RO (1 ‘mmg feveer ety e s 3 et e 3} Rerer 8 9

@A) T (B) o ;;{;E ©) T (D) FereeT
The Narora Atomic Power Station is locatéd in which district of Uttar Pradesh 7
(A) Hardoi (B) Hathras 1j (C) Hamirpur (D) Bulandshahar
2, e e ) st qm a0 89
(A) T ®) deswfin O () (D) e
What is the official currency of the Umtcd[Kllg,dom ?
(A) Euro. (B) Pound Sterkin (C) Yen (D) Dollar
3. W EeEiaTe Y ©)
(A) S Hbior Bt &
(B) 79 RISSISH Ot &

(C) ISt STaeh fArfern Sl a1 s ceht 2

(D) ﬂaaﬁmﬁqwﬁ muﬁﬁaamﬁ%
What is Greenhouse gas ? !

' (A) Gas that releases oxygen
(B) Gas that releases hydrogen
(C) Gas that emits and absorbs infrared 1
(D) Gas that absorbs carbon dioxide.

4. AT VS ITfiehat 2 2T UeeH e i

The identification number given to every.r éyster'ed'sfupp'lié;~ is

tion -

'ITO Ve  %#

® IGST = @) esiNG U O GsT D) EsN
EIEREINEEECIERICERREIE R R

(A) TS (B) F@mT - (C) T . (D) mER:
Which State is the largest producer of bajra ? B : HiE vt A
(A) Gujarat (B) Haryana - (©) Rajasthan = . (D) Maharashtra.

6.  TH U ST, g e A L AT, %mmﬁaw% i |
(A) méﬁﬁmaﬁmmm\ (B) ¥T&dl ud awdior ésﬁéaﬁmqwﬂsm
©) FFElsfaemE uewdea = (D) mﬁmmmm g
The PURA scheme by the former Presiden{ Br. Abdul Kalam refers to - : i
(A) Providing Urban Amenities in Rural &teas (B) ‘A Plan for Urban and Rural Areas A
(C). A model for the growth of the metro Gﬂes (D) Providing Urban-Rural Alignment = .

7, mmﬁmmﬁm%mﬁwﬁ@@tmmw%mmmwm%?

Which organization is responsible for p@xdmg guldelmes and assistance for disaster nsk reductlon‘ :

worldwide ? é
) (B) SUNESCO S (o) wro i »‘(D} WHO
8, “TATNSHEHE R Ry 0

) aETAR ) R ©) amw%a‘r (D) W:ﬂa?
Who authored the book “An Era OfDarkness" ? : ‘
(A) Shashi Tharoor. *  (B) ' Pandit Sunder]a]



g,  TEeC Gk TR YEe forer o e i g 9
In which year was the Cyber Surukshit Bharat Initiative launched ?

(A) 2018 (B) 2016 (C) 2015 (D)‘2017
10. G20 35T 4G STRTC T T 37l R 7 o
A) v (B) Wl T (0) } Ak aidd ' D '
gvlmtldg:cs the letter “G” stand for in G20 Nﬁinns?( ) Lo Ul (D) T8
(A) Group (B) General LJ ©) Great (D) Good
1. Wmmﬁwmm%m%; ; i 0
(A) eI @) S ) (© v (@) S L
Fieldwork-based research is classified as : [ | ‘ v
(A) Historical (B) Biograplncal(‘) (C) Empirical (D) Experimental
12. ag?augwqﬁqa?ﬁu@ww%? 1,;;) :
(A) e ift ST Gea s @ (B) w@ﬁwmmaﬁrmaﬂ
(©) e sar A fafafd w (D) Wmmaﬁﬁfmw

What is the role of the United Nations Security Council ?

(A) To maintain international peace and security (B) To promote cultural exchange
(D) To oversee 1nternat10nal humanitarian a1d

(C) To regulate global trade e
NOAA FTHAGH © : g
) mw%mwmmmwmw@m i
(B) trg‘laagﬂaﬂtamg?ﬁzr aﬁﬁﬁ% qzq’tmqgﬁrﬁém)

v

W%"fﬂé’fﬁ’raﬂm@m@a@] .

AccredltatlonL,)
ospheric Adi‘timlstratlon
Assoc1at10n

D) =




17.

18.

19.

20.

21.

22,

23.

24,
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Aeiar ferrtor sper w @ afgrr S Frem dwwg % Frerffea v 1 4 it a2 2
(A) fafmoemm  (B) fakke Reem (C) R e (D) Fwtt 3izAm

The distribution of mangroves is mainly found in which of the following parts of the Andaman and

Nicobar group of islands ?
(A) Little Andaman  (B) Little Nicobar " (C) Car Nicobar (D) North Andaman

AR ) @, Rraey Faferear 1 shifer e i, a:rﬁaz%fémsrm%
(A) T e (B) ST are J (C) R

The discovery of penicillin, which revolutionize m;dlcme is attributed to :
(A) Robert Koch (B) Jonas Salk " (C) Louis Pasteur

aam%aﬁﬂﬂﬁaﬁﬁaﬁhﬁmam}—%ﬁnmmﬁwwr@m%ﬁm%mwm
TRT T T fohe ST R |

(D) ATIS FATHT

(D) Alexander Fleming

(A) FE ® g Do www (D) T
is money that is earned through Iegltlrff%fe means and is accounted for, for which income tax or
other tax is paid.
(B) New currency © White money (D) OId currency J

(A) Black money
Tt G <t SRATaT (S8R H - 1eg 7 Zviian € foh v Tt oft arett e d g R 2

(A) e (B) TURIST (C) HYfIE-HTT (D) WHETET

Which term in the Preamble of the Indian Corjgtitution sqjmf' ics that India is free from any external
control ? E-.E’ _
(A) Secular (B) Republic il (C) Sovereign (D) Socialist -
mﬁﬁ‘ﬁmﬁf@ﬁﬁﬁﬁq—mmmﬁaﬁrﬁ%@ﬁﬁﬁamih [

-

(A) HIcIdT sl 43K (}3) HIETE FT IBR
(C) BIRIATYL ISR = (D) LEER IR \
i L—;l,veen the Aravali and the Vindhya region ?

Which among the following plateaus in India lie

(A) Malwa Plateau
(C) Chota Nagpur Plateau

m (B) Marwar Plateau
D &) (D) Deccan Plateau

STy 3 S’ % &9 A Rl ST ST & 2 |

(A) TS (B) UTSUTIRE - (C) FIR (D) W
Who is known as the Father of Geometry’ ?

(A) Euclid (B) Pythagoras (C) Kepler ' (D) Aristotle
wiraTer e eI i G 7w (e SueRtt) o IR e ST fieh T 1 € 2
(A) TR TIgqe FEAT ﬁ"*(B) e guTfed T

(©) spaifer TR A it T . |_](D) et samen
What is the primary benefit of using analytics toolﬁn social media communication ?
(B) Editing content £

(A) Scheduling posts ( )
(C) Blocking unwanted users ] (D) Measuring performance

e 3, For aafeafiery 3 TR it arreierael 3 Fige & g SRET e R 2

(A) DIR#fafrm  (B) UAPA (C) . POSCO ¥fuf@™ (D) MISA

In India, which Act provided the framework to déa )wnh unlawful and terrorist activities ?

(4) DIRAgt. .. (B) UAPA .. = | (C) POSCOAct (D) MISA




TR — &8 ST R wmert s qai e @ 2

25.
(A) SIS o 1
(B) TR TRt ot e wed R G
(C) e i ST AT . L
(D) wief T R e &=
What is the importance of India — Russia Annual Sumhip)?
gg; lS{educmg trade barriers ke
trengthening strategic partnership and defence eration
(C) Promoting tourism 4 P C).‘y
(D) Regulating cultural activities - ©®
26. miﬂ%mﬁ“ﬁ?mﬁW’wwwm% 2
(A) m‘éﬁa‘rﬁwﬁmﬁzwwmaﬁtw ,
(B) 3YGifed ho< i sciieh AT '
(0) FAURE T '
(D) qAHELTE .; +
What does the term “content curation” refer to in sociagﬁedia ?
(A) Selecting, organizing and sharing relevant conter’ﬁom other sources
(B) Blocking unwanted content = :
(C) Deleting old posts | 5=
(D) Creating original content Q
27. wETHIHEH . FHEAE &
SAC code consists of ___ digits. = FIT O TN : 7
(A) 6 (B) 10 . . C@)4 ety D) 5\
28, T ¥ g TEw o E A foRE ST St <11 ? . |
(A) QAT H -, | (B) W fiE |
(C) aEEdIeE (D) @R IS 9ed
Who was known as the ‘Iron Man of India’ ? :
A) Subhash Chandra Bose : (B)4.Bhagat Singh
(C) Jawaharlal Nehru i o Sardar Vallabhbhai Patel
29. 1'997ﬁméﬂ?%§mﬁ@qﬁﬁlwﬁwmﬁ$%ﬁ%wm, ST 3 ST <Rt THTH AT © ?
(A) AT SR (TTdi2n) o
(B) AR T e (m.gﬂvﬁ) 2
(©) mm-qﬁw-uﬁa%:aﬁz(ﬁmﬁﬁ) O
(D) R e (. ) : A R
Which international treaty, adopted in 1997, aims t@liminate the production, stockpiling and use of
chemical weapons ?
(A) Nuclear Non-Proliferation T{eaty (NPT) @
(B) Chemical Weapons Convention (CWC)
© Comprehensive Nuclear-Test-Ban Treaty (CTBT)
(D) Biological Weapons Convention (BWC)
30. m%ﬁ%ﬂwamaﬁfﬁmﬂmmﬁeﬁ?
: In which year did India gain independence from British rule ? 2 :
(A) 1947 ee(B) 1960 e © 1945 @) 199 "
s o PagsBofad LT TR T TS R
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B2;

33.

34.

352

36.

37.

38.

T SferTe wicagor aifRifers ahat e gar 2

(A) 12 fidarg, 1993 W (B) 10 37w, 1993

(©) 109, 1993 W6 (D) 28T, 1993

The Protection of Human Rights Act came [?n?r) force on : T
A) 12t September, 1993 O (B) 10 October, 1993
(C) 1oth July, 1993 E.) (D) 2gth September, 1993
IR 3 STee Srefscreer sy s w1 e o AT G AT |

(A) fefves g (B) itk e?fsrsm@—;»-z (€) forggfero (D) =5 Id
The cashless c¢conomy in India has been anl@'ﬁcd with the Indian Government’s initiative of
(A) Digital India (B) Banking sector crisis (C) Demonetization (D) Swachh Bharat

MR ST 3 ey avgese 3 demadt o oA o e
(A) I7F=3T 245 (B) 37T 246 . (C) IT=< 243 (D) ¥1T=% 250

Which Article of the Indian Constitution provides for the establishment of Panchayats ?

(A) Article 245 (B) Atticle 246 ¢g (C) Article 243 (D) Article 250
Torwr ot =nr forver e e foerer e o sy s 2 2

A) 239 (B) 195t o (C) 16 3T (D) 25T
Which day is celebrated as World Meteor:}?ﬁical Day ?

(A) 23" March B) 19" Janua (C) 16MApil (D) 25" March
Frafafas & @ s yra § v swr ae g2

(A) TST W2 Hieargsd ug Hiieed (B) U Hitieheq Ue widamssd fifies
Which of the following is the largest fertiliser producer in India ? |

(A) Gujarat State Fertilisers and Chemicals Ltd. (B) Rashtriya Chemicals and Fertilisers Ltd.
(C) Coromandel International Ltd.

fora T @it siaridia wiifa feam F s Hardftyma 29

(A) M4FT=T (B) UYEE S (O) 199RT . (D) 21 R
Which day is recognized as International DEy]of Peace ? :

(A) 14"November (B) 1'nuly 32 (0 19MAugust (D) 21 September
mmwmaﬁ‘mﬁmm’ﬂu%mw%?

(A) TFefa ®) wevra L (C) wwdfeam (D) ooy
Which ancient Indian text is known as the @encc'of Ayurveda’ ? '

(A) Manusmriti (B) Mahabharatff) ©) Chariaka Samhita. (D) Arthashastra
T hl gl AfectT JuT w1 off 2 '

(A) qufsH Ay (B) Rt (C) sfemieft D) Wi
Who was the first female Prime Minister of India ?

(A) Sarojini Naidu (B) Mayawati (C) Indira Gandhi (D) Sonia Gandhi

------------------------------------------------------------------

HTZ-2.4 Page6of24 = TTTTTTTTTTemmemeemee L

(D) o wrid wfiéamesr AisimRs fifivs

(D) Indian Farmers Fertiliser Cooperative Limited



39.

Pl
TIPSR S R () 9 |
ick out the odd one from the following.
A3579111317l9 ‘
) &) B) 9 (&3 (D) 17
) 40- gw@%a‘w&a | m%m%ﬁ:ma@ﬁ%ﬁ%mﬁmﬁmﬁﬂﬁwﬁﬁm
‘g:&i‘“‘c is given. You have to identify which among;ﬁhe following pieces is not required to make this
T3 STFLA / Given figure : %
©
v (2 ®V o\  oJ
41. =y AT | o |
Find the odd one out. ‘4:3; .
®) (G D)
42, QTEgEEEXFE@AGCL ' | '
Find X from the given series. : O
64, 57, 50, X, 36, ... \ ;
(A) 48 (B) 42 (C(@ 43 (D) 44
43, @’ STl S T FHIT | ‘
Find the next number in the series.
280, 275, 265, 245, . : ‘
(A) 215 (B) 205 (©) 210 . O 220
44, ST 800 ﬁ@mﬁ‘a@ﬁé’raﬂtﬁtaﬁf 9201‘1‘@%5%%11 | mmqﬁmw%v
Arun bought a cycle for T 800 and then sold it forT9 ((ﬁj\’hat is his profit percentage ?
(A) 30 - (B) 10 (D) 20
45, =mfmuF e d a3 E 19, 2 3 ars S e | T, m%mﬁaﬁt%ﬁ%mmﬁqﬁ%mﬁ‘,wﬁﬁm
Fefa d | wad A HA T8 ? )
(A) 5 (B) <M (@8 (D) T
Four friends are sitting in a row. Sam is o the right of Fqm. Amy is to the left of Tom but not next to him. .
Rick is between Amy and Tom. Who is sitting at the fa(yjlght ? : A
(A) Rick (B) Tom @Psam 5 At S A
46, A ABCHFSLYXE, & DEF %1 HIS F18 ? L
If the code for ABC is 7YX, what is the code for DEF ?
(A) UVW ®) VUT ... (C€) WvU (D) VWU
e S E N S T P R T




47,

48.

49,

50.

51.

52.

53.

%ﬁ@r@wm il |

Find t112c dilsgimilm'puir of numbers, q?; i

@ =z, = 412 & Lyt 9 81 '
) 5°30 ®) 7’25 © T e

U queet (‘ﬁ#)qa;ﬁ'qﬁaw @;ﬁ%mmmﬁ%m%ﬁﬁwmwm
%@mﬁmm>m%|®mwmmwm%?

A plane intersects a regular tetrahedron ifETCh a way that the intersection forms an equilateral triangle.
How many such planes can do this 9 . ' ’

@) 3 B) 4 Q vy 1 (D) 2

@mﬁ@ma‘ﬁaﬂtmmg@n%m,‘mﬁﬁaﬁ%ﬁaﬁﬂﬁﬁ%l”mwm@
v yer weifta @ 2
(A) st (B) srefism ‘ (©) ueh (D) F&

Pointing to a man in a photograph, Asha said “His mother’s only daughter is my mother.” How is-Asha
related to that man ? ]

(A) Niece (B) Nephew N (C) Wife (D) Sister

T TR T SR T W G R 3 et i R B sl @ A1 391 2 17 Rt 5w oot & e
THR W ? , Rll?:l

A) faar B) @ . 2 (C) "mr (D) i ]

Pointing to a girl, Vinod said “She is the d{ﬁ}hter of the only sister of my father.” How is Vinod related to
the girl ? '

(A) Father (B) Grandfathel |  (C) Uncle (D) Cousin

e i P Rereet o srem ek e s i s i Rigedt a1t ard 3 5 Rl
T 3 e e Rt fig ¥ | - ® _

Study the following positions of a dice and determine how many dots ‘are there on the dice face opposite
the one with three dots. i :

A) 5 B) 6

=

A

o

Frerferfen & & from 3 g | S
Select the odd one out from the following, %
O

)

(D) 4

A) 11 (B) 23

aTRfer § PRIt i dear 3a hifor |

Find the number of tgangles in the figure,
e e

e S e

© 6 . D 17

e e

)
e R R R Rt E R it ool e




54, R Rt
&) Fh A e st i
Find the ;id Ny (C) arft (D) T
A 0dd one out from the given alternatives,
Cooki h 14
) Cookies (B) Milkshake oy (C) Burger (D) Pizza
Vo
/ 7
q | .
vt & . ‘ |
Find the next figure in the above scries from thc(éﬁtions given below.
I Il I IV
56. Wﬁma@ﬁaﬁmﬁﬁm Eé]
s
Find the next figure in the series. {%
? o
@ A ®) V O 4 ®) 4
57. aj@ﬁﬁﬁﬁﬂ@aﬁg)ﬁmml e
: -]
Find the odd one out in the series. ;‘3"‘“-;
B4, D16, F38, H64, J100 [—]
(A) D16 (B) H64 E"’; (C) F38 (D) B4
s, U AT 3 0 ] 1 20% 1 gIf gL ST | Hﬁa’s;_s'ﬁ?ff 1,200 s T A e, 38 5% T AT BT | TG
T FA AT ? C)
A man sold an article at a loss of 20%. If he could)sell it for T 1,200 more, he would make a profit of 5%.
What is the cost price of the article ?
(A) 74,850 (B) %7,800 (C) ¥4,700 (l)_)_fi*:f*_(i(i _________
S T paem PR e, i = e BB




; #, Cﬂlﬁtﬁf5,125ﬁﬁfﬂﬁrﬁ@tﬁaaﬂt@@m%lmmﬁzs%% ‘
59, ?mn:iﬁmgﬁo%gaﬁwaﬁﬁmlaﬁ%aﬁmﬁmn@mmg,aw'mmm_;
T forerer o ?

- - | amount of T 5,125. He sold the horse a’t-a-;:;: |
i fait, a man buys a horse and a camel for a tota : ; '.‘:-
;)\:ol;i:“l)l? g‘;“t/l;a;fd i:he camel at a loss of 20%. If he hdd sold both the animals at the same price, then the:: :

5 i “(;,
(CZ§t p;xg,eszt(‘)the e lani;n né 3’,‘8%0 ' ), 6,900 (D) T8500
22 %35 x 53, 2% x 3% x § ST e WG (HCF) T eI |
Findthe HCRof22x 3°x 5%, 2*x3%x5. ' (7
A) 22x3’x8 B) 22x32x9 ©)] 2% 3%x5 (D) 22x32x7
90, 128, 144 1 THH THIE (LCM) I HIfvTT |- (,)
Find the LCM of 90, 128, 144. ) -
(A) 5762 (B) 5764 -~ (©) 5758 (D) 5760

Tt A Y Feql Aot SRR 8, AfR I8 O U I ST O I T 65% ST &9 1 firetar & siahs
TR Y ST T A T 80% W 35 w9 3 rerdr & 1 1 v = 5 7ot Ao b, gE I % 0t Je A
S ? - , A ‘
_ The total emoluments of two persons are the safné, Bift one gets allowances to the extent of 65% of his
basic pay and the other gets allowances to the extent ZiﬁSO%'of_ his basic pay. The ratio of the basic pay of

the former to the basic pay of the latter is : [,,, @ ‘

A) 7:5 (B) 12:11 €X 16:13 (D) 5:4
T RT SHER T W 20% 1 2 371 % | 30 v off 597 et 0 449% 1 o TR | 1f 3HfRd Tow @
ST 8, AT % 91 i | 7]
A trader allows a discount of 20% on the marked priqé’.‘;He still has a profit of 44% on the cost price. Find
the profit % if he sells at the marked price. ('i’i
(A) 80% (B) 49% © 90% D) 6%

T AR T 98] 1 Ge frskar 5 20% TZ W ST B, Ak Rttt
TR 10% [ ST € | G Fashar 58 4,002 31 & S 2, Ry
g it fo e u¢ sifir e o
A trader sells one item to a retailer at a 20% discojgnt, but char.
: ' t, ges 10% i i
delivery and packaging, The retailer sells it for ¥ 4,092 mor D Giscounted Peire: %
price had the trader marked the item ? 1ok

e, thereby’ eaning a profit of 25%. At what
(A) 718,000 (B) 18,600 (€ 19,400 (D) 19,000
65. a1 termfeat famta famm & 29 ferei/eier 3k 25 Rpfy/siet ’

, R AT Ty YT
AT 5 W U S 1 6 QS & IR B | Sy < Wﬁmma&g effeft wifer <Y
(A) 1104, (B) 90, ' ‘

Bﬁfw*%@m@zmﬁ)
25% TN AT Berr & | At sy

, : : ), 857 (D) 1007,
Two trains are moving in the opposite directions at 29:Km/hr and 25 km/hr., The f; i
: , N , aster traj
in the slower train in 6 seconds. Find the length of the‘fz'gster train, ; : 3 Srosses 2 man

(A) 110m (B) 90m (C) 8m

S, ccmcamr e ==



66. T® WEAT §I HIRrg o 15 19%agqma:qﬁéazméfﬁgm%qmga3 . 4 3 SRS ST ST 66 |
Find the number that must be subtracted from the tcrms?ﬁfthc ratio 15 : 19 to make it equal to 3 : 4.
(A) 4 B) 5 )b (D) 3
a it
67, Wiar ey oTrr e Y STRT & 125% AferR & | oY efta <y 7 My Bt 77 & e TRAA A 8 7
Mita’s income is 125% more than that of Sita. What per‘c%)t is Sita’s income less than that of Mita ?

| 1 ‘
(A) 225% (B) 55.55% - (C)§5%

' @
wmwﬁwﬁﬁ%a’rﬁwﬁ%wm(ﬁ%maﬁrmzﬁﬁ%,a“raﬁﬂWZ?3‘?”%@(
T T TEs & iR o FN: 2, 4 31 2 8 ¥ | 37 3 e iy 91 AT |

When we calculate the HCF of two numbers by long division method, the last divisor is 2 and the
successive quotients from first to last are 2, 4 and 2 respectively. Find these two numbers.

(A) 20,24 (B) 12,16 (C)418, 40 (D) 16,20
69. 53,240 TR 3 T 10% TG AT (AH © %wﬁmﬁ%:ﬁrwn&ﬂ%?

A sum of T 53,240 is accumulated in 3 years at 10% cp ound interest (compounded annually). What is

(D) 124%

68.

the original amount ? ‘gﬁ ,
(A) 60,000 (B) ¥30,000 : (CX‘}F 20,000 (D) T40,000

70. 555 AR A sivew i 31 @) S & 5 o7 A 6 T 2 | TR S A i de I i A
graqrﬁugm%,a’rmﬁaﬁaﬁﬁaﬁmmmm(ﬁ)@aﬁ%? .
The average monthly income (in %) of certain ag’ricultur@vorkers is S and that of other workers is T. If the
number of agricultural workers is 11 times that of other workers, then the average monthly income (in )

of all the workers is : .
S+11T S+T

11S+T 1
@ ® f5*7 T e

T oA 1 31 SEfiear 9 | 75%uaamaﬁ’%mﬁuaaa‘3§ﬁﬁ 2% W A T T | Tk INFIEER ht 9261
é}zﬁaﬁ%vﬁgméuaﬁams%%la‘rmm I oY et ST T I |

There were two candidates in an election. 75% of voter césﬁ their votes, out of which 2% of the votes
were found invalid. A candidate got 9261 votes which wire 75% of total valid votes. Find the total number

. TL

of voters enrolled. C) |
(A) 16,505 (B) 26,600 - (C[]1,600 ' (D) 16,800

72, 2507, 1 70 oo v g e <R S S (S e o e o 3, A< sf s e
& | f e R 16 Feveier @ afte qfereenet B i 263Re/sier 2, A S % v o & vet 5% R @

F AT B 7

(A) 7004, (B) 950, (C) 1000, (D) 8507

A thief is spotted by a policeman from 250 m. When the policeman starts chasing, the thief also starts
running. If the speed of the thief be 16 km/hr and that of the policeman be 20 km/hr, how far would the

thief have run before he is caught ?
(A) 700m (B) 950m (C) 1000 m (D) 850m

-
- o e = o r o - o o - o - - v Se e w 0 W S Se G0 M MM eSS -
- - - " e e e E e e e e e e e e =



e fortft TR & oT1Se
73. Wﬁﬁma‘ﬁmmﬁuﬁmﬁm@ﬁ%mﬂwmmﬂoszﬁmﬁ HZ @Tf"ﬁm
R TRIT | o) S SN 2 T 9 B S R | 3a i o v afad ¢7 L e
A cricketer had a certain average of runs for his 64 innings. In his %5 mn:,\r/“;’ve:age of runs 7
score on his part. This brings down his average by 2 runs. Then what i$1is ne
130 &= (D) 128
(A) 170 (B) 168 © il

it ?
4. A8 R Sl s @ Tl i 10% 5T 4,840 B SHH ik & TR —
What is the sum of money that becomes € 4,840 at 10% rate of compéﬁnd interest (comp
after two years ?
(A) T3,400 (B) 1,500 (©) 4,000 LJ (D) T4,500

75, X ol Y ue s 12 R ofe 18 Rt o eh a3 Ot e o T 7 fobar ifeh 4 fod
R Y HOver vt 3R X ¥ o 3w e qu B | o g e e @ d g e ?

(&) %ﬁﬁ? (B) ?ﬁq (©) 10fA (D) 18fe

X and Y can complete a work in 12 days and 18 days respectively. They started doing the work together ’
but after 4 days Y had to leave and X alone completed the remaining work. In how many days was the

whole work completed ? 4
A) ? days B) — days (C) 10days =< (D) 18days

76. @%ﬁmoﬁﬁﬁqmgma:rﬁ%wwﬁmém%aﬁus w%@ﬁam% | 24 {1 & 917, T

el & foh sheret weh-fores weeh €t ot 2 | < 3@ foha wﬁﬁag@ﬁﬁwﬁmmﬂ%’qmamﬁwmm
TR |®)

(A) 159 B) 70RY e g (©) 100w D (D) 60 I8

A contractor undertakes to make a tunnel in 40 days and employs 25 mer}l After 24 days, he finds that only
one-third of the road is made. How many extra men should he empl@
work 4 days earlier ?

(A) 75men (B) 70 men : (C) 100 men

so that he is able to complete the"

(D) 60 men
77. ﬁﬁﬁswwmmﬁmﬁiﬁﬁmﬁﬁﬁmw &l -, o R Emiar Y, o, ¢ — HI AT,
0, *+ TR S+, o Framiar e |

Slmpllfy the following expression using the given code language whg ‘+’ represents ‘x’, ‘x’ repre'sents
‘", ‘=’ represents ‘<’ and ‘+’ represents ‘+’. : [j
16x4+4+14-2 | A
(A) 76 . (B) 28 (C) 40 O (O 35
78, ST T S F G, T 3 e, “Terehn Wt 3 1 1 AT 321 % 1 7 ey oo & o
e et 8 2 .
(A) forr (B) wé © ww  © (D) wfa
Pointing to a man, Kalyani said, “His grandson is the only son of my brother.” How is the man related to
Kalyani 7
(A) Father (B) Brother (C) Nephew (D) Husband

----------------------.-—-----------n-.--—------—-----—- -------
-



79.

80.

Sk

2.

. 85,

H
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HeiforT 158 T H | ‘
] ! (D) ¢ATcHSh

(A) AT B) qurlen gy ©
Find the related word. ‘ e i
Prime : Composite :: Odd : ? e Bvel (D) Positive
(A) Rational (B) Integer , ] (C) Eve
; e &
syt 3 QW W 9T S| | EN
Find the missing term in the series. C)
ASBC, A4CE, A3DG, __, AIFK . (D) AZEG
(A) A2EL (B) A2FI l(f)] (C) A2EF
S sia § Q He i A | . ®
Find the missing number in the given serics. :
11, 15, 24, 40, 65,7 ©) 95 : D) 100 P
101 B) 90 d ‘ ; :
%fzﬁﬁaﬂm ) Méq)mw%mwmmﬁm%ﬁmﬁﬁqm% | 378 ° T T
w%mﬁmmm#ﬁmmmlwwﬁmﬁql
Rt M TR v ided as alternatives alongside a given

In the following question, you will find four a,'ggitional words provi
word. One of these words cannot be formed usigg]the letters of the gl
Given word : “MATHEMATICS” EQ* '

(A) MATTER (B) THEM Q (C) MATH
—q2—2, @A T@2#4 FTAAFE ?
2_ 2pq What is the value of T@2)#47?

ven word. Identify that word.

(D) MATE

IR p@q=p>+a*+2pq, p#q=p>

If p@q=p>+q’+2pq P#Q=P"—4 v
(Af 493 (B) 5897 @ (© 568 (D) 6480
¢ e F1d i it I 1578 (2) 3 T I 3T |
Find out the alternative which will replace the question mark .
243 :23%::621: 7 |
) 612 (B)i12 (€) 21 (D) 62
Freferfiaa e, STeR f T 979 o W 9T %mﬁsﬁw‘ia‘»mﬁﬁqn@%l I A T ¥eE T QTG
vToz 3 a7t ST ST s T ST ST Al | ST B e | ' G
f&ar ma w6z : “FORMATION” I:]
o rnatives alongside a given word. One of

In the following question, four other words argsprovided as alte
these words cannot be formed using the letters Q‘f}he given word. Identify that word.

Given word : “FORMATION”
(A) RATIO (B) MINOR r:] (C) MAJOR (D) TRAIN
ATg7 g FIfT ; ;
gﬁlzm::?ﬁ’(: @)
(A) g (@) (B) TS (C) = (D) 3T (J1S)
Complete the analogy : ' :
Dog : Kennel :; Lion : -
(A) Burrow (B) Tree (C) Den (D) Shed ;



ST S0 33§ ko ), R T et i 6 ko sty e, o 7 ey S Rt 4 m Tl | S5,

87.
' R ?
T AR, 18 K =relY 3 10 o aget | st fifg 2w  SERT o o fom & Roorr €
(A) I S D) ?.’f\m-tﬁ
t@ (B) SW “O ©) d right and walked
Seema ran § km towards east, then turne Neft and started walking 6 km, then i mm}?- h direction is her
for 4 km. Finally, she took a right and w lljed for 18 km and reached her home. In whic
home located with respect to the starting ﬁéfnt ? ' ; h-East
(A) North-East (B) North (7 = (C) East o PR S
88. e fifirs s T i, A WeT “PARTNIR] #1 “0ZQSMDQ’” % & # Fifeq fohar ST e by
T “SEGMENT”’ & T shig wm g 2 () f
In a certain code language, if the word “PARTNER?’ is coded as ‘“‘OZQSMDQ”’, then what is the code
for the word *“SEGMENT”’ in that language ? ,
(A) TFHNFOU (B) RDFLDMS (C) SERBCPT (D) QWSARTH
89. UTH T AT BT 3 HhY 3 & (Prsaraie) 1 hivr 1a T | '
SMTT R 3
-
N =
3 a0
2570 B34/, 59\ ) [:]
3 2 - »8
21% : ) = iy
20% 7 ()
M~ [
: ® -
@A) 72 (B) 90° = (©)- 30° - (D) 60°
Study the graph and find the angle of sectof of coffee. ‘
Consumption —
_ Juice
25% x:34(:2i:4 COffce
7 :ih
21% 7/ Tea e
20% l-"i
' . Water . ¢
! 9
) 72° B 9% 10 D o) 300 ®) 6
-—ul 3 00
90, AT 15 Hiex gferor it 3 Tt B, ﬁv‘tﬂﬁ‘léﬁ?%
: 8 aﬁtmtﬁamitaa?ﬁ%lagmwmﬁaﬁmﬁ
it e R i 8 7 - . Hw
(A) 20 Htex feqor ® (B) 23 wfet
(C) 25 Hiet aféqur-ufyem (D) 26 ¥y T
Anna walks 15 meters south, then turns right and walks another 20
is she from her starting point ? meters. How far and in which direction
(A) 20 meters south (B) 23 meters v
- f ) (D) 2 west
Sg) 25 meters south-west (D) 2 6 meterg north
70 4s b s o L B A R Page 14 0f 24" "7 =meil
{ Y. S




IR AT AT BT 1TV

o, AR, W g R, e, o @ gl §

92.

30+ 10+ 6-5x6" HTAFMRTE ?

If “+° represents ‘+°, *+* represents ‘=,
! pr

‘30+10+6-5%x6""?

. represents X’

oo gy agfar 8, B o, 0 G ®, @

, and ‘x’ represents ‘“+’, then what is the value of

it D) —10
(A) -14 B) -21 4it; ©) 12 D)
= Joy
U S § T IX % BT & SR AEE A, B, C, Y|
RO ‘@?f?l?/lg J@A B | @mAC | #READ
i 3 23 17 27
A et § srehol o 28 Sj‘
e Sl i 14 l{; 12 8 13
srfarfier qdtem # Sefiol dfe ; Nes i s i
aifder e 3 srgelt oE |
T et 7 Il o 64 55 46 76 |
mﬁﬁmﬁﬁm%mwaﬁ%ﬁ%m>wﬁwﬁ%@ﬁ,ﬁi:rﬁ‘«rﬁa?fﬁ%
FHATFAII R ? 3‘2 : .
(A) aﬁmﬁmmwmwmﬁ .
(B) ST GERAT i HfSTE TR F AR TG ““Qﬁ-ﬁmm
(C) rafieh e 7o e off | f,:)

(D) iR wdte stferen s of |

A school has four sections A, B, C, D of Class I{(‘§tudents.

Result Section @) Section B | Section C | Section D

Students failed in both exams 28 23 17 27
Students failed in half-yearly but ' %

; 14 12 8 13
passed in annual exams sy
Students passed in half-yearly but ;

e 4 |
failed in annual exams . n - ’ i N
Students passed in both exams 64 | 55 46 76
| P

In th'e conte.xt of comparing the difficulty level
passing, which of the following statements is trup-

N

(A) Both the exams had almost the same diffic ity level.,

(B) The two exams cannot be compared for difﬁéulty level.
(©) Half-yearly exams were more difficult, &

4
Sthe two examinations based on the number of students

Page 15 of 24




9.

9s.

96.

97.

iR & & - ot i, o i feryar 3 sfter daier ot werdr s qmfar 8 2

?
Which of the following diagrams best indicates the relation between | ndla, Haryana and World

@R 1O =)

ST H ST U7 i vy |
Find the next term in the sequence, “ \"‘
AB, ABB, ABBB, ABBBB, 7 G
(A) ABBBBB (B) ABB | '(c) ABBB - (D) ABBBB

ST = Fveer s, maﬁﬁqﬁxmma‘qhmw%u
%)

2(C) 22 (D) 23

— Balls
Red —— v
(A) 24 B) 25 HO 22 | (D) 23
R EEU G LT T S a—, %mgﬂ?m%ﬁﬁﬁﬁﬂ‘iﬂﬁw%—?ﬁ%?
(A) d%=d 31 arer | IB) &t 3 s i

(C) Eﬁmﬁ?«'ﬁmmﬁ?ﬁam L5(D) o F U
Felt o1 Iereaiferdt H -9 e 3 ()
(A) FOI™ (B) Wi [ © S

e e (D) ¥ ™
“TiehTIe et o fore, wfere T fody fegnma o ¢

(A) FHY (B) T vt @O frrieT v (D) Tz fisr
Preaferfae i & #-ar sivgr @@ fmd 8

A) ol - ¥ (B) A - AEH (C) mﬁr-amﬁ (D) IR — e

-----------------------
____________
------

-------

--------



~ 100, TR’ §GHTE R

SV ®
NS R Nk
; ®) onfr
.Wgﬁ’%gaﬁgﬁﬁ%?

(A) ST WEAT  (B) yrfehie syrech

Tt 3 & e e o vt ifore
(A) STl = et e |
(C) SR e et e g

~ 101,
102

© 103

| 104.

@OUO%%#

- - - -

Page 17 6734~~~ """ =" ===etm-nemecsmmcmseaeces i

(C) wHiuT™ (D) wgfE
©) T D) P
©) ez ymt (D) HRwse

(B) iferat =hr gt et wedar B |
(D) Tcirafeat <hr fegt e Fedar arft |

freterRea Tt § & fyg b S '
A) REFvrR e bRy wEr
. © IRshiwmy (B) rwwar g # +ft =t |
105, PR & H: (D) fea T T IFR |
| T8 B w2 qRei R 9 52 -
(A) T B) R (] o
106, ITET FRT-TTEmE 9 o= - (D) wm&n
(A) FHuRg O >
. (B) IF=rfvE
107. 3= F T ] T (D) =gshife
A) T , Q= } ‘
108. % Gl 8 © = ’
. Ffw e iwd | @) 3f==
A) =Y ' :
109. fedri Gt T (©) = S
: TeAd: 0T shi T fohal & 2 | (D) T
(A) 52 (B) 53. ' '
110. ‘g ST SR TAH HH-ATR 2 3‘; %3 D) 51
A o .
111. 5dts e GHT 1 2TEWT 3 7 N - (D)
(A) e GHTE (B) faqanm O«
© ) W ‘
112. ‘W-W-W’mmzaﬁaﬁmmwmﬁim%: St
(A) sHEEgE  (B) ITHRAEIRTCO) (©) wimafriyg
113, o sumf A= g ) (D) Feem-=r-353
(A) =91 (B) AUTH (C) ST
114, frfaftad 7 @ qataar= g &1 HiH-81 I0 T8 R 2 D), gt
(A) IR~ FedT (B) A" —dTfer © wed-amim (o
115, <y g e it e e B 2 A
ARG TR R (D) 13



116, Tefirfacy 3 A wlt ahvanor ot < R
(A) 0w g @ g A | (B) ey S A A T AL
(C) 1 T W At {01 1 et A | (D) :r:i‘rf%mﬁ%razﬁfrr:mmmfﬂl

U7 i s oy e 2 e e e P T

(A) o e e @) (@) W '

(C) =g a™H u ED; W%Wﬁm LEISERSE
18, R @ wfid: ?) ' |

(A) ® g [ © F @)
119, “Tiwe A H-drafad o O) |

(A) A B) forf @ © ref (D) &=
120, & o7} STl VoG- AT ?

(A) ﬁvfr—ﬁ'sftgi [ - T (B) T-W = T el S

(C) STE - AR = GH - (D). FT~FA - = g7 — Fftaet ,
121. I & YEEART O © : g

(A) W@ (B) ¥ ffj; ©) fm ~ (D) T
122, Freffad 8§ & a1 @ HRy A SR 2 f’i]‘ -

(A) TAERR - B) A o ©wm . O LIS
123. SRR, A FEA L : 6

(A) dfrgadam  (B) @Y [] - (C) WA (D) U aAM

124. ﬁuzﬁg@@ﬁqwﬁﬁﬁ@aﬁmmﬁwgﬁﬁo 8?2 '
(A) <% IR (B) IR fAehreT ® (C) TAHIE (D) SAHER

125. Frefefad arel 3 & ey 3 R A A ¢ ?
(B) - ST&{ e &1 Heh, AT |

(A) T ST AR |
) fFfemigwgl (D) &t 3 T vedt & |
126. 7l & € AT HA AT F FA TR @ :
(A) F ® w1 oo frert () s
127, “fieg’ %1 Ehfem Far g ? . 8 _ e S
(A) et (B) Thefgar [53 (C) TafeT (D) "=
(w} .

T, @ 1289 132 TN 94 »
S 2 Set AT %1 @ FU B &, gafer st g THT T | 19 T

e gt 0, | o bl Gl i
et AT T ST bl e 6 AT G, SRGHT o HeTe St FAawATGEn W, W9 S R qree s

fret &, R 50 T T A 3T S T o T € |

I

FTeT 8 21 gaT & 9 SAIT 9a €7, 319 fem s forg .S
w7z Foft Teeft &, Faen R @t SO 8 | Aef 5f v @ iy v %ngja,mg;%'mﬂwﬁ? ..
ST | A AR ) gt ST @ | RSN, IS 3T SIS Frd Tt 2 | 31 3 Wg}wmé

Rt o T T, 7 TR A S SR QA 9 | S et o g A T |

----------------------------------------------
--------
-----
--------
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128.

129.

131.

132.

133.

134.

135,

_____

. Frefeiea & & forg wog w1 oed “mimer 2 @
)

SERR Y Yl :

(A) TR AR AW W (B) e & A sl & .
(€) AR ) T i ey STl € |
et & . R g 9 [3,]
(A) TR R I=Rr A 5 | -

(B) mwﬁéﬁwmﬁmﬁﬁm@mﬂ%#ﬁm
(C) Sfia o ot o ) A E | :.
(D) 3T STEER Hl YIS ST W@ |

(A) T B) $aF (D) %=
maﬂsﬁasﬁﬁ%

FWW (B) AW W (C) sTertnitar (D) AT T

T A ST & HEe o H F et it s ahd § 2

(A) ST T AT ST G | . ﬁ

(B) A I TATE Y FagaTHh AR | ‘ﬁ]

©) aﬁﬁanaﬁtﬁvhaﬁwﬁw#mwh&

(D) Torvameur it 1 TR @ | : 6

aﬁaﬁ?mqjﬁﬁswﬁaﬁtm%,a‘ragﬁmﬁw%z 29 :

(A) ufEt (B) sfaoft » - (D) ot

If a bird flies from East to West, what direction is it flying in ? :

(A) Western (B) Southern ) Northern (D) Eastern

. X2Y#FALX, YR T&T8

2. X3YHAIEX, YH AT
3, X8YHALEX, YHUfdR
4. XSY®HJAFREX, YR U

. X2Y means X is the sister of Y

2. X3Y means X is the son of Y

3. X8Y means X is the husband of Y
4. X5Y means X is the wife of Y
Which of the following means that K is the mother-xQ’_—'ljw of H?

(A) H513J8L2K (B) H8I12J3KS5L @)) H3I5J3K8L (D) H2I5J3KS8L

GOO0%0O%#

AW, X iy Hrafg, qAATZ, X HFTUf 2, a’rzz‘ﬁf%mww% ?

(A) =& (B) AMT (C) "™ (D) =T

If W is the mother of X and Y, and Z is the husband of X, then what is W to Z?

(A) Sister (B) Uncle (C) Mother-in-law (D) Mother

—---_....____..._-_....._-—..--_.........--_----—-----—----_-_-_..-___________________




136. I YE g hifvre |

Find the dissimilar term. ~%

P49, T4, 764, KO. E
(A) T4 (B) Z64 59(C) P49 @5

137. W quhifsig ; 8 .

HATFHISH : SIAMT 22 ? : AT : @) 7113@'577{ l
(A) e eReiEaEe (B) dferw ©XC) FEF @
Complete the analogy :

Oxygen : Burn :: ? : Extinguish '

(D) Nitrogen

(A) Carbondioxide (B) Helium (C) Hydrogen

138. 27me@xa@aﬁ%ﬁmw%w@mﬁmss%%,eﬁxzﬁrmw%?

cles. If the profit is 35%, then the value

The cost price of 27 articles is the same as the selﬁn% price of x arti
ofxis: [:] ;
A) 18 (B) 20 520 22 (D) 24

%yaﬂt 15%@{&@%%%3@@?@

139, T ST ST 3 15 Fhelt S 8, g
31 R 15 Felt ¥ a8 78 a1 S g § A Wqﬁﬂ#%%qlsmﬁaﬁmm% | 9 3T

i fig & fret o PR ferd g 2 ®
() 3042 Fedt AR (B) 30~/2 it aRor-afim

(C) 302 forrft ST-ufzm , (D) 30+/2 forrft STgd
man went 15 km towards North, then turned East and covered 15 km and turned to the left. Again after

A
15 km he turned to the right and covered 15 km tgteach the destination. How far and in which direction is
he from his starting point ? s
(A) 30-/2 km South-East [;_,](B) 30ﬁ km South-West
” :
oy
(€) 30~/2 km North-West 6(1)) 304/2 km North-East

AR § It M fe s Sz 1P, Y

140, TE @ X, Y, Z, S, P 3T Q, Th IR i<t

i S B oftr #F 7T A &, AfeRT TG A AN 3T
FIpHFAEHAE?
Six girls, X, Y, Z, S, P and Q, are sitting around a circular table. All of them are facing toward th

ard the centre

of the circle. P is not sitting between Y and S, but someone else from the ie Qi
group is i
e to each other, Z is to the left of S and right of P. Who is left of P 9 Lo Srnesshadd

are opposit
A) Z (B) S 0 X
N M e S el b e © X .k O Y
HTZ-2.4 Page 20 0f 24 TS m s -




TSI A <

2014
£F]2013
Bl 2012

0 10 20 30 40 50 60 70
TR | et i g |
WB?‘B?'TT@[@?@TWZOM ﬁWﬁWW,WD%ﬁﬁMWmm%ﬁ
2012 T feregefieror feram o 2 “’*‘}
(A) 80% B) 65% Ea ©) 40% - (D) 33.33%
The given graph shows the number of villageﬁi} four different states where electrification was done in
different years. ()
] | | 1] |
e 1 P T TTRTI]
tate %% %% %" DO %% %% %% 5
7222 Ll - 2014
State B [oac ittt ina it ai g ] 4
‘ 2013
B 2012
State C .:‘:.:':. ............................ f .':; ..... 40
State D iidiiiiiliiiiid =
T 1o 2 0lla s e

Number'of villages

T ber of villages in State B where electriﬁ’ggtion was done in 2014 is what percentage of the number
umber of v wher : :
Of}'1 \c'irlllagcs in State D where electrification was done 1n 2012

% (©) 40% D) 33.33%
(A) 80% | (B) 65%

D e e e T e T i, :
Page - - -




142, 97357 1, 2, 6, 24, 120 3 s7rel GEm TR 9

In the sequence 1, 2, 6, 24, 120, what is the next number 7

(A) 650 B) 720 - (©) 360 : o
143, siaw 6, 24, 60, 120,_ﬁmd@rmﬁﬁmhh

Find the next number in the serics 6, 24, 60, 120, . ¢,

(A) 218 B) 210 2HC) 236 (D) 216

144 R 987 123, 741 9 369 3 5w o i fora ST, i 269 Y Fg s et fofert s 2
1£987 is coded as 123, 741 as 369, then 269 will bé coded as :

(A) 356 (B) 841 (Ac) 367 (D) 840
145, #@w2, 5,10, 17, __ ®rquhiie) =
Complete the series 2, 5, 10,17, . CJ
A) 32 (B) 26 ®lc) 24 (D) 28
146. af foreft i ot 5 At b T o3, o 3 A i 20 Andi o ofi et s e fo s 2
(A) TEER (B) TEw (C) @War (D) HIER
If Thursday will fall on 5™ of a month, then which day will fall three days after the 20t? of that month ?
(A) Wednesday (B) Sunday th-(C) . Monday (D) Tuesday

147. < 3777 i avimer e (@) 59 1 fefEd &A1 A oY T F A Y 1397 ER B 0

Which is the 13'0 letter to the left of the 6t lette@om the right when you write the English alphabets in
backward order ?

£3
(A) S B) I \ak(C) T . (D) H
148. I TFH T T @A AT 15 Yoo H R A 2, 90 /erET Y it & AT F Al 39 3 B 600 e S qe
1 G A T T a2 L &
(A) 379F0g (B) 39 dwvg Q(C) 35 Yepvg (D) 42 YFve

If a train crosses a pole in 15 seconds, how long V(@)
to cross a bridge that is 600 meters long ?

(A) 37 seconds (B) 39 seconds (C) 35 seconds

149. s,vm%at?rlP,saﬁtTmﬁm%,aﬁrT,Maarf&m%w,Rﬁa@%u
P, V 4 fore yahm weiftra 2 2

it take for the train, travelling at a speed of 90 km/hr,

(D) 42 seconds

(a) i ®) ¥ o) wg ()
S is the brother-in-law of V, P is the father of S #nd T, who is the father of M. V 1s the daughter-in-law
of R.
How is P relatedto V ? [;]«::
(A) Brother (B) Son ‘(3 C) Father-in-law (D) Father
150, =, firem & wwlt @ e mrgd foret Tft 7 @ Lﬂjn,qﬁmﬁwﬂﬁ%éﬁmmmmqﬁg | TR
frauaag daT R 8 ? A
(A) G (B) wmylt ~(C) (D) =far

: ) )
Namita is taller than Priya but not as tall as Madhff) Reena is not taller than Namit

Who among them is the third tallest ? .
(A) Reena (B) Madhuri (C) Priya (D) Namita

- " = o = e e e e e e
-
-

HTZ-2.4 Page220f24 T

a but is not the shortest,




